BREETRFOMNERERER CGHRIEXL 1 —-L4) 1/7

RERE | FRRTETB1H OK) ~FrR2TETH31H (%) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
(EES 5V EBLLI T AHET 158 (7k) T 10.4
2 |FE Y 8L A ST 3H (&) A& 5.3
3 [FFx 15X X B ZEEREI | 308 (K) g 14.2
EES AV VIR X BT HENTER 6H(H) g 7.4
EES 17X (7)) [BRLUTHHEMNETIEE 8H (k) A& 7.5
EES TV (E) BB LT AHRET 17H (&) A& 10.9
EES THTX BB LT AHRET 23H (K) IS 9.9
8 [BE THTX BB LT AHRET 28H (N) IS 9.1
I EES T X EBLLI T AHET 29H (7k) T 10.5
NEES THTX BB LT AHRET 31 (£) IS 141
(IEES THTX EBILUTHNEIEE | 10H(£) IS 7.5
(P EES THTX L= HET 21H(N) IS 13.6
(EEEES T X LM HMNE &2 | 24H (&) T 9.0
IMEES TV X BB LT ARET 28H (N) 15.7 10.7
(FEEES THYX B LT =#2HE])IIH | 17H(£) e 10.6
16 |BF% ITAHNX (zn) BRI HANEHET 31 (£) IS 6.8
17 9932 Hh7 BB LT =2 AT I|H | 30H (K) IS 8.9
[FIEES ARF+ BB LT AHRET 158 (7K) A& 11.3
19 |5FE ARF BB LT AHRET 17H (&) A& 10.5
IEES ARF+ BB LT AHRET 23H(K) A& 9.7
21 |HE ARF+ EBILUMEAHBIREHRERE| 27TH(8) A& 11.6
22 |HE HRF+ 8L E RIS 30H () L 7.3
I EEES HRF+ EBLUHHEHNETEE |[27H(A) L 9.2
Y EES ARF+ BLLUTHHENETE(E | 22H(K) A& 18.3
25 |BFE ARF BT HRATET i B | 14H () A& 6.3
26 |Fp% HRF+ LT EANBT# S | 27H () L 8.2
EES ARF+ BT EANETLS  [24H(®) A& 7.8
I EEES HRF+ LM 13H(B) L 11.0
29 |FFE ARF+ 8L = HET 21H(N) A& 6.3
30 |FFE ARF 8L = HET 21H(N) A& 11.9
31 |HE ARF ELLUmEXLBINLE|13H(8) A& 5.1
E I ESES ARF LU =FEHAT)IIH | 31H (&) A& 5.8
33 [Fx HRF+ a8)lm 23H(K) L 9.0
EAESES AV TS50 —  [EUTENETIEE 8H (k) A& 12.5
35 [Fp% FrRY BUmh B4R [ 14HCN) L 8.9
A EES FrRY ELLHEERT K| 1H (k) IS 6.6
37 |HE F Y EBILUMEAHREHRE| 3H () A& 12.6
38 B FrRY BT EHNETIEES 8H (7k) IS 9.2
39 [Fp% FrRY L= HET 21H(N) L 7.4
NEES F Y a8)lH 8H (7k) IS 14.9
NREES Faiol BB | 28H(CN) L 8.2
YIREEES a1l BLUHREZTE| 9H(K) A& 10.2
EIEES Faiol LR EVERT R | 26H(E) L 13.9
MEES Faiol BB L& T Z HEF | 29H (0k) T 8.5
N EES a1l BB LT AHRET 2H (K) A& 7.4
T EES a1l BB LT AHRET 2H (K) A& 8.9
NREES Faiol BB LI T AHET 2H(K) T 6.3
R EES a1l BB LT AHRET 3H (&) A& 13.3
49 [Hx Faiol BB LI T AHET 6H(8) T 8.9
50 [Bf= Fa1ol 8L Th AHEET 8H (k) AR 9.7
INEES a1l BB LT AHRET 9H (K) A& 9.1
52 |BFE a1l BB LT AHRET 9H (K) A& 9.9
R EEES Faiol EBLLI T AHET 13H(B) L 13.2
A EEES Faiol EBLLI T AHET 14H(N) L 8.9
S EEES Faiol EBLLI T AHET 16H (K) L 6.3
56 |[Fp% Faiol EBLLI T AHET 17H (&) L 8.5
57 |5 a1l BB LT AHRET 23H (K) A& 10.2
58 [P Faol BB LI T AHET 23H(K) L 9.5
59 |FFE Fa1ol 8L A ST 3H (&) A& 9.3
60 |[FF a1l 8L A ST 8H (7k) A& 7.8
61 [FFE a1l BBLLImh A~ ET 178 (£) e 7.4
62 | a1l i1 Th= A HET 6H(8) A& 8.2
63 [ a1l i1 Th= A HET 6H(8) A& 10.2
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BREETRFOMNERERER CGHRIEXL 1 —-L4)
WREHRE - FRRTETR1H OK) ~FR27ETA3H (£)

2/
(B4 1 A*9Llb/kg)

E=31 ] — o = ®&EH . wHERERES T

64 |[FFx a0l L L Th= A HET 23H (K) A& 10.3
65 [ Faiol LU= A HE] 24H () T 17.6
66 |FFE Fa1ol ELUTmEAHRBIEAN | 16H (K) A& 8.7
67 |[FFx Fa1ol EBILUHmEAREIFIHR| 3H () A& 6.6
68 |FF Fa1ol EBILUTMEAHBIFIHR | 24H (£) A& 7.7
69 |FF Fa1ol EBILUMEARHIREHE| 3H () A& 6.7
70 [¥¥3E Fa1ol BLUTEARITENR| 3H(E) A& 10.2
EES Faiol BB A BEK 23H () T 9.9
[AEES Faiol G =E=1:0] 24H (&) T 15.2
[EEEES Faiol I GE= ii} 13H(B) T 11.4
IEES Fa1ol LU HEAETER 1H (7K) A& 6.7
75 |[FF% Fa1ol BLLUTHHENETE(E | 22H(K) T 8.3
I EES Faiol BT EATET R A B [ 14H CX) T 8.5
HEES Fa1ol ESLLUTHEMNETLLS [ 24H(®) T 8.6
I EEES Faiol L= HET 6H(8) T 7.0
79 [Bf=% Faol 8L = HET 15H (7k) AR 7.8
80 [Fx Fa1ol 8L R EHET 6H(8) L 9.4
FEES Fa1ol 8L R EHET 14H (N) L 6.0
82 |[Hx a1l £8LLh H A0 BT 6H(8) A& 7.1
83 |[Hx a1l £8LLh H A0 BT 9H (K) A& 7.0
84 B a1l £81Lh HF0 BT 16H (K) A& 9.4
85 |[Bx a1l £81Lh HF0 BT 23H (K) A& 8.0
86 |[FFx a1l BLUHHAMBESE]| THCN) A& 5.0
87 |[Fx a1l EIUHmHMHETSE | 8H(K) A& 5.4
88 |[Fx a1l EBILUMEALBIAGFRE|27TH(B) A& 10.2
89 |F¥x a0l ELLUmEXALBINLE|[13H(8) A& 6.5
90 (¥ a0l BB E A LB [ 145 (N) A& 11.8
91 [Bp¢ Faol gL =48HETEAL | 1H (k) AR 9.7
92 | a1l gL =48HBTILO | 8H (k) A& 8.7
93 [BpE Faol ag]llm 8H (k) AR 9.4
94 [Bfx a1l a8)lm 138 (B) IS 10.4
95 [Hx Faiol a8)lm 27H(B) L 9.9
LEES Faol H+ T 15H (7k) AR 8.5
97 |FE Fa1ol HA™ 23H () T 13.6
98 |¥¥x Fa1ol —_ A 13H(8) A& 8.6
99 [Fx Fa1ol EENEESET ) 8H (7K) L 14.5
100 [¥F3% dJ—+ BB LT AHHET 21 (N) IS 8.2
MEES d—+ EBLLI T AHET 29H (7k) T 14.0
102 |[BF J—% BT EAHBIEHE | 28H (N) A& 13.6
103 [¥F U5 X ELLUTHEAHBIRHE | 28H (N) A& 14.6
104 |[BF¢ U5 X 8L HAOERET 10H (&) A& 8.6
105 [¥F3% HH 5T X LU BEMNHEEISE | 13H(B) IS 11.4
106 [F¥2 P ARG EI 3H(£) L 9.1
107 |[BF 15y BT ARIET 7TH(N) A& 11.5
108 |[¥F¢ 15y BT AHIET 8H (k) A& 10.3
109 [¥F¢ 15y BT AHIET 9H (K) A& 10.6
110 |[$F 15y BT ARIET 9H (K) A& 14.3
111 % vV rYy  [BRLUTHARRHET 108 (£) IS 13.3
112 |BFx 105y BT ARIET 21H(X) A& 8.8
113 [ 15y BT ARIET 24H(£) A& 10.4
114 |3 Y17y [ERLUHRR 14H(N) L 13.0
115 |[BF a1V 5y [BUGEABRECA| 9H(K) A& 14.3
116 |[FF¢ a1V 5y [BUGEABEIGHER| 6H(B) A& 12.1
17 B Y1V 5 Yy [BUHmEMNETLS  [268 (%) A& 9.9
118 |[BF a1V 5y [BUEEALBINALAE| 13H((8) A& 6.6
119 [$§3% PR = =L EAEION) L 10.9
120 [B Y15y |BE]F 148 (X) IS 9.8
121 |$% Y15y |BE]F 148 (N) IS 9.1
122 |¥% PR PP 13H(B) L 12.4
123 [Hx PRI SN 21H(N) e 8.5
124 |$F% PRI SN 271H(B) e 10.7
125 [ IR BLmhzEvERT Il | 24H(®) e 14.9
126 |BF¢ IND BB LT AHRET 24H(£) A& 15.1
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BRHEETEFOMGEREER GEREXLF1—L4) 3/7
RERE | FRRTETB1H OK) ~FrR2TETH31H (%) (BQT = A\ 9bb/kg)
E23L] — o = B=EH . wHERERES T
z=| P7IY ks AL (18 EIINT34T37 (b994134+137)
127 [H=x I A1 E 8L Z A5 1T 15H (7K) T 8.1
128 [ I A1 E BT EIERTAERE [ 14HCN) T 8.3
129 [H= I A1 E BRI | 15H (k) T 10.6
130 [ I A1E LT EERZFE| IH(OKR) T 7.1
131 [Hx I AL E LB FFEE] 6H(B) T 9.9
132 8% JvHAE LT S 128 H]T 29H (7K) A& 10.3
133 [$F% JvHAE BB LT E ] 2 H % | 22H (k) A& 10.5
134 |93 JvHAE BB LT AHRET 3H (&) A& 5.4
135 [Bp2 I A1 E BB LI T AHET 3H (&) T 7.8
136 [ I A1 E EBLLI T AHET 7H(N) T 7.5
137 [Hx I A1E EBLLI T AHET 8H (7k) T 13.6
138 ¥ I HAE BB LT AHRET 108 (£) IS 9.2
139 [$§3% I HAE BB LT AHRET 138 (B) IS 8.6
(B ES I HAE BB LT AHRET 138 (8) IS 7.9
141 [B I A1E EBLLI T AHET 145 (N) T 7.6
(YAEES I A1 E EBLLI T AHET 158 (7k) L 7.5
143 [Hx I A1 E EBLLI T AHET 21H (N) L 8.6
TEES I A1 E EBLLI T AHET 22H (7k) L 9.2
145 |3 I HAE BB LT AHRET 23H (K) IS 10.7
146 | I HAE BB LT AHRET 23H (K) EN Y 8.6
147 [B I A1 E EBLLI T AHET 29H (7k) L 10.2
148 [H2 I AL E BB R ST 6H(H) L 7.0
149 |[$F JvHAE 8L A ST 8H (k) A& 9.2
150 [Bp2 I A1 E L= A HHET 6H(8) L 7.5
151 [B2 I A1 E L= A HHET 13H(8) L 7.9
152 B2 I A1 E L= A HHET 21H (N) L 6.3
153 [B2 I A1 E BT = A HHE] 23H () L 8.9
154 |93 JvHAE LTS A HHT 2LH(E) A& 8.7
155 |[BF¢ JvHAE EBILUMEAHREEN| 3H () A& 8.3
156 |BF¢ JvAHAE BILUMEAHREHE| 3H () A& 10.5
157 |52 I A1 E BB A BEK 23H(K) T 8.4
158 [Bp2 I AL E BB ARET 108 (&) A& 9.9
159 [¥F¢ JvH1E I =E=] 21H(X) A& 5.6
160 [Fp2 I A1 E ESLLUTHMNEIARSE [ 16H(K) T 5.8
161 [ I AL E EBLUHHEHNETEE [ 14H(CX) L 5.4
162 ¥ JvHAE EILLUHHEMBEIER | 14H(N) A& 6.8
163 | I HAE BT HRATET_Ex&Ei | 29H (k) IS 6.9
164 [BFE I HAE ELUTHENHEIER [135H(8) IS 13.2
165 [Fe I A1 E 8L AT LU 6H(8) L 6.7
166 |[B¥e I A1 E BLUTHENETLS  |[24H(®) L 7.0
167 [ I AL E LM ETSFLL | 22H (k) L 5.6
168 [Fe I AL E EBLLTHIR 7H(N) T 7.3
169 [F2 I AL E EBLLTHIR 13H(B) L 8.9
INEES Jv AL E BB = FHET 10H (£) T 8.7
171 |[Bx JvHAE 8L = HET 21H(X) A& 9.4
172 |BF JvHAE L = HET 22H (9K) A& 5.2
173 B JvHA1E BT HETAREDR | 21H (X)) A& 5.4
174 [H2 I AL E L IEE 22H (7k) T 8.2
175 |BF JvHAE 8L HAOERET 3H (&) A& 5.6
176 [B2 I A1 E 8L A0 HRET 158 (7k) T 5.7
177 B I A1E 8L A0 HRET 17H (&) L 6.2
178 [ I A1E 8L A0 HRET 17H (&) T 7.3
179 [Hx I A1E 8L A0 HRET 22H (7k) L 6.6
180 [F¥=2 I A1E BRI HF0EE] 23H () L 8.9
181 |93 JvHAE £8LLh H A0 BT 23H (K) A& 10.7
182 |¥93% JvHAE 811 H A0 BT 23H (K) A& 7.4
183 |[¥F¢ JvHAE LU HAOERET#)R | 16H (K) A& 6.5
T ES I A1E LT EXALLATREER| 27H(B) L 1.4
185 [B¥e I AL E EBLLTh =#EHE] 6H(H) L 10.4
186 |[B¥=e Jv AL E a8|llm 29H (7k) L 8.6
187 |8 JvHAE FEm 31 (£) e 7.5
188 [¥F% I HAE A ER/NEFHT 138 (B) e 9.5
189 [F2 I A1 E HA™ 13H(R) A& 8.1
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BRHEETEFOMGEREER GEREXLF1—L4) 4/7
RERE | FRRTETB1H OK) ~FrR2TETH31H (%) (BQT = A\ 9bb/kg)
E23L] _ o - B=EH . wHERERES T
190 |[¥F¢ JvAHAE — AT 3H (&) 9.7 7.0
191 |8 JvHAE — AT 138 (B) IS 6.9
192 [Hx Jv A1 E — AT 29H (k) T 7.1
193 [Fx I A1E E=EES ) 8H (7k) T 8.5
194 |99 A1 BB LT AHRET 22H (9K) A& 9.1
195 |[BF¢ A1 BB LT AHRET 27H(H) A& 9.4
196 |[EF¢ A1 BB LT AHRET 31H (&) A& 7.6
197 |99 A1 BB LT AHRET 31H (&) A& 5.8
198 [B¥% 2145 BLUHmEXBBIEFREE| 21H (N) IS 6.7
199 [F2 21 A ESLLUTHAMNEIARSE [21HCN) T 5.2
200 |¥¥3¢ A1 8L = HET 22H (9K) A& 11.6
I EES A1 a8)llh 29H (7K) A& 6.9
I EES AyF—= EBLLI T AHET 18 (k) T 8.9
203 |Hpz AyF—= EBILUMEARHBIEHRE|17TH(2) A& 11.3
I EES AyF—= 8L AT BT 4 B | 14H CX) T 14.0
205 [EPE A — AHATH 21H(N) L 9.4
FEES AYyF—= RE™ 17H (&) A& 6.2
EES A BmE™ 17H(£) L 12.3
I EEES =V LU ERT ) 1H (7K) A& 1.2
209 [¥F¢ ER=P] LT S 12 H] 29H (k) L 9.0
IEES ER=P] LU HNETIEE 8H (k) L 7.9
ANEES =V ag)llh 8H (k) A& 1.4
212 %3¢ HIZF BT ZIERTFRE | 28H(CN) L 8.6
AENEES N ZF UL EIZTE| 8H(K) A& 7.0
EES HIZF LT ETESX 2H(K) L 7.3
AEEES N ZF BB LT AHRET 2H (K) A& 9.4
216 |F¥3E N ZF BB LT AHRET 8H (k) A& 8.6
AYEES N ZF BB LT AHRET 9H (K) A& 9.0
AFEES N ZF BB LT AHRET 148 (N) A& 7.6
AEEES N ZF LTS A HHT 6H(8) A& 7.4
220 [BF¢ HIZF BT = A HHE] 13H(B) L 7.3
221 |$93E N ZF LTS A HHT 24H(E) A& 9.8
222 |F9E N ZF EBILUMEAREEA| 2H(K) A& 7.4
223 B HIZF ELUTHEIRERE [ 10H(®) T 8.6
224 |F9E N ZF I =E=] 8H (k) A& 5.7
225 B¢ HIZF ELTHNEIARSE [17THEE) L 13.9
226 |BF¢ HIZF BT HENETEE | 22H(K) L 4.9
227 %3¢ HIZF BT HENETE(E | 22H(K) T 6.6
228 |F¥E N ZF LR 7TH(N) A& 6.8
229 |¥¥E N ZF 8L HAOERET 3H (&) A& 6.0
230 |¥¥3E INZF 8L HAOERET 23H(K) A& 7.3
231 ¥ HIZF LT EXALLATREER | 27H(B) T 8.0
232 B HIZF L =1HATEE| 6H((B) L 8.9
233 |F¥E N ZF H# T 22H (7K) A& 6.2
EESES koAY BB LT AHRET 31H (&) A& 6.2
235 |BF¢ FOEO3Y  [ERLT S R5HH] 29H (7K) T 9.4
236 B¢ FOEODY |ERLLTAHET 15H (k) T 9.0
237 |$93% FoUEO3OY |EBLLUThAHEET 29H (7Kk) A& 9.0
238 |F¥¢ FoUEO3OY |ESLLUThAHEET 31H (&) A& 7.5
239 |¥¥E FoEO3OY |EBLLUThAHEET 31H (&) A& 6.3
240 |F¥3E FOEOOY H# T 27TH(A) A& 1.2
INEES ryEODYV (7)) (ERLUTIEHFOEET 17H (&) A& 6.2
IV EES ~Y b BT EIE 28H (N) A& 9.9
243 |F¥E ~Y b BILHEEETHIL | 24H(E) A& 8.5
IS ES ~Y b BB LT AHRET 2H (K) A& 7.1
R EES ~Y BB LT AHRET 6H(8) A& 9.7
246 |F¥E ~Y BB LT AHRET 6H(8) A& 10.4
INESES ~Y BB LT AHRET 6H(8) A& 9.4
IREES ~Y b BB LT AHRET 9H (K) A& 9.9
249 |F¥E ~Y b BB LT AHRET 24H(£) A& 10.6
250 |¥¥3E ~Y b BB LT AHRET 30H (K) A& 6.4
251 [E¥3E K<k ERLL™ AT 13H(B) A& 6.6
252 |F¥E ~Y b i hEH 10H (&) A& 10.3
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RERR - FRRTETH1H (0K) ~FRR27TETH31H (%) (BfiL = A\ Jblb/kg)
E23E] N o - BaEH . BHRRESE
z=| P7IY ks AL (18 EIINT34T37 (b994134+137)
253 |$¥3E ~Y LTS A HHT 2LH (&) A& 1.7
EEES ~Y b EBLUHEXARITERR| 23H (K) A& 6.8
255 |$¥3E ~Y b ELLUTEAHBIEHE | 28H (N) A& 14.1
256 |FF3E K<Yk EIGZREES 23H(K) & 14.0
257 |F3E K<k R EIRS 21H(X) ~EH 8.5
258 |EF3E K<k BT EEiR 30H (K) ~EH 6.8
R EES K<k LR EMNEIAE [13HA) & 5.0
260 |F¥3E ~Y EILLUHHEMBIER | 22H (k) A& 7.5
EREES K<Yk ST AT BT B[ 148 CX) & 7.6
262 |FF3E K<k BB AT BT #BLL# | 158 (0k) ~EH 6.9
263 |FF3E K<k BT EAEIERL [21HCX) ~EH 7.4
264 |FF3E K<k ERLLH I 135 (8) ~EH 7.3
265 |F¥E ~Y 8L HAOEET 6H(8) A& 6.1
266 |F¥E ~Y £81Lh H A0 BT 16H (K) A& 9.9
267 |F¥3E ~Y 8L HAOERET 21H(X) A& 5.4
268 |F¥E ~Y £81Lh H A0 BT 23H (K) A& 5.3
269 |F¥E ~Y LU HAOERAT#)R | 16H (K) A& 5.7
270 |$93¢ ~Y ELLUmEALBINLE|[13H(8) A& 4.0
EEES ~Y ag)llh 21H(N) A& 8.7
272 |F3E ExXF BT S 13D HET 29H (k) ~EH 15.0
273 [BE F X BLHEEET EFEE]| 95 (K) ~EH 9.9
T EGES + X EB LT AHRET 9H (K) A& 9.2
275 |F9E FTA BB LT AHRET 145 (N) A& 10.6
EES JTA BB LT AHRET 22H (k) A& 13.9
277 |BF¢ + X BB LT AHRET 2LH(E) A& 10.7
AEEES F R EBLLITHBEAR 35 (&) & 10.1
EEES + X 8L A ST 17H (&) A& 9.2
280 |¥¥3¢ + X 8L A ST 2LH(E) A& 9.3
281 |$F¢ + X i1 Th= A HET 16H (K) A& 8.2
282 |Hx F A BLHEXBETAIER | 24H (£) IS 10.6
283 |H¥z + X BILUMEAHIREHE| 3H () A& 11.5
EEES + X ELLUTHEAHBIEHE | 28H (N) A& 10.7
285 |EF3E F R BT EEiR 30H (K) & 8.9
286 |FF3E F R BT EMNBEIAE [21HCN) ~EH 12.7
287 |HE F R BLHENETER [10H(®) ~EH 12.8
288 |E¥3E F R ESLLUTHAMNETEIE | 22H (k) ~EH 12.9
289 |[FF3E F R ST AT BT B[ 148 CX) & 8.0
290 |[EF3E F R ERLLH I 135 (B) & 8.5
291 |$¥¢ + X 8L HAOERET 2H (K) A& 10.1
292 |BF¢ + X 8L HAOERET 3H (&) A& 8.7
293 |F¥E + X £8LLh HF0 BT 16H (K) A& 10.2
A EES + X 8L HAOERET 17H (&) A& 8.3
295 |¥¥3¢ + X LU HAOERET#)R | 16H (K) A& 8.9
296 |F¥E FTA LU =FEHET)IIH | 17H (&) A& 10.7
297 |BF¢ + X a8)llh 14H (N) A& 9.7
298 |F¥¢ + R a8)llh 158 (7k) A& 11.0
299 [BE + 22 H+ T 22H (k) A& 10.6
300 [Fpe F X — A 135 (B) ~EH 10.3
301 |EFE =3 BRI AHRET 68 (8) ~EH 9.8
302 |EFFE =3 BT EMNBEIAE [21HCN) ~EH 15.0
303 [¥F > LT PREHETRAER | 8H (k) A& 12.2
304 [BFE —IY a8)lm 8H (7k) IS 9.3
305 |FF3E —oIY A= 15H (k) & 8.0
306 |k —V=7 BLHEEET EFEE]| 6H(B) & 10.8
307 [BE —V= LU S 12 &HH] 29H (7K) IS 11.6
308 |FFE —V=7 BRI AHRET 23H(K) ~EH 9.9
309 |FF3E —V=7 ERLLITHARET 10H(2) ~EH 9.9
310 |FF3% —V=7 BLUHENETESR | 68(8) ~EH 6.7
I EES —V=7 EBLL i AT BT #BLL % | 30H (OR) ~EH 6.6
312 |99 V=7 LU PAHBIRER | 8H (k) A& 6.7
313 |Fg =v=7 A= 15H (k) A& 8.7
314 B E—<vv LT EH 108 (£) e 16.8
315 |FF3% E—<v LR EMNBIS!E | 22H(0K) ~EH 14.5
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REHM - FRRTETA1H OK) ~FERRTETA31H (£) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . BHRARESET
316 [ E—vv B EHAETEEI | 215 (X) IS 14.2
317 |$FE E—vv 8L HA0EHET 17H (&) IS 13.3
318 ¥ E—<> HA ™ 31H (&) g 10.3
319 ¥ PP BB LT AHHET 6H(H) g 11.6
320 [¥FE J0v 33—  [ELUHHENETIES 8H (7k) IS 9.7
321 |FE SRV BLmhzEvERT Il [ 24H(®) IS 20.4
322 |$FE Sl NEd S SLLmh S a8 H] 29H (7k) IS 12.1
323 |¥FE SRV E BB LT AHHET 10H (£) IS 10.0
324 |BE SRV E BB LT AHHET 21H(N) IS 7.7
325 |$FE SRV E BB LT AHHET 21H(N) IS 12.5
326 |FFE SRV BB LT AHRET 21H(N) IS 9.7
327 B Sl d BB LT AHRET 23H (K) A& 11.0
328 |¥FE Sl NEd S BBLLITHRERL 29H (7k) IS 8.8
329 [Bx Sl NEd S BLHEXBETAIER | 24H (£) IS 13.4
330 [¥FE =KV 8L E RIS 21 (N) e 11.4
331 B Sl d I =E=] 22H (9K) A& 9.8
332 |FE SRV BLLUThEH 271H(B) IS 9.6
333 [$E SRV LT HFETRS K| 27TH(B) IS 1.4
334 B Sl Sd 811 HF0 BT 2H (K) A& 6.8
335 [$FE SRV E BB LT ARET 28H (N) EN Y 8.0
336 ¥ =3vA U HETRE [ 21HCX) IS 7.3
337 |8 SEPE: S LT =F2 AT \IE | 27H(B) IS 10.8
338 [¥FE EOANTT BB LT AHRET 21H(N) IS 10.6
339 [¥FE EONA LU EHAETEE | 215 CX) EN Y 10.8
340 |$FE PR B LmhEERT Ll 6H(H) IS 8.0
341 |99 LY X BB LT AHRET 2H(K) A& 17.1
342 |9 LY X BB LT AHRET 29H (7Kk) A& 15.1
343 [k GiPk. mEk®) [EIK LI ira T 21H(N) A& 8.1
3LL |k GFPk. BEAZ) [BIK 3L P BT % 7TH(CN) N 6.7
345 [l -FDCFE|DDNZIVY LU BT g | 21H (N) A& 9.2
T ENERERR ALY 8L EHET 2H (K) IS 7.8
347 [IWE - =D |[F5 /3 (7)) [BUT=EAHE]T 6H(H) IS 9.7
388 [IUE - =D CcFE (¥4 /3 (1) [ERILUT HANEE] 1TH(K) IS 8.6
349 I - FEDCHE[YS /X 8L EHASTET /N T 8H (k) IS 12.0
350 |IIZE - EDCHE [~ AUSS (E) P a ERPa bty 15H (k) IS 9.7
351 [l -FDC ﬁtﬁr BB LT RERL 13H(8) IS 11.8
352 [ILE-=EDCFE|[TF HA ™ 158 (7k) IS 9.0
353 M*-§®Zﬁi¢F@m B LmhEvET Il [ 14HCN) IS 10.6
354 m* Eohd =] PENE ) WNEEESARERT 3H (&) IS 11.6
355 [EiE 77 =) 22H (7k) 22.6 6.1
356 |[E3E 77 =E2h5m 22H (7k) 18.3 9.6
357 %% T X (518) L 7H(N) IS 9.5
358 |R=E T X (518) B LUTh =54k 6H(H) 6.7 6.5
359 [R=E T X (518) ELLTHEERT K| 1H (k) IS 10.7
360 |R=E T X (518) B LmhEERT Ll 6H(H) IS 7.2
361 |R=E T X (518) BB LT AHRET 1H (k) IS 10.5
362 [FR=E T X (518) BB LT AHRET 2H (K) IS 7.1
363 |R=E T X (518) BB LT AHRET 2H (K) IS 6.9
364 [ER=E T X (518) BB LT AHRET 3H (&) IS 6.9
365 |R=E T X (518) BB LT AHHET 3H (&) IS 7.2
366 |R=E T X (518) BB LT AHRET 3H (&) IS 9.1
367 [FR=E T X (518) BB LT AHHET 10H (£) IS 9.4
368 |R=E T X (518) BB LT AHHET 158 (7k) IS 9.5
369 |[R=E T X (518) BBLLImh A ~FET 1H (k) IS 8.2
370 |R=E T X (518) BBLLImh A ~FET 1H (k) IS 6.8
371 [R=E DX (Fi8) EBILUMEAHIREHE| 3H () A& 1.4
312 |R=E T X (518) 8Ll HA0EHET 1H (k) IS 6.8
373 |R=E T X (518) BLUmBEHMNHISE]| 3H(&E) IS 7.0
374 |R=E DX (5iE) HA ™ 6H(H) e 7.1
375 |R=E T X (518) N N 3H (&) e 9.3
376 |R=E T X (518) NEBSEN 6H(H) e 9.8
377 |R=E DX (5iE) A= 1TH(K) e 6.8
378 |R=E DX (5iE) A= 1TH(K) e 6.6
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BRHEETEFOMGEREER GEREXLF1—L4) /1
RERE | FRRTETB1H OK) ~FrR2TETH31H (%) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
379 |R=E (5/vE) |[BMLUHEXAHIIRERER| 3H (&) A& 8.0
380 [R=E (F/4v8) BB HADEE] 158 (7k) T 6.6
381 [BE= hF EBLLI T AHET 10H (£) T 13.5
382 [B= (= EBLLI T AHET 7H(N) T 7.6
383 |R=E ED LU= A HE] 13H(B) T 7.8
EEES ED G =E=1:0] 6H(8) T 7.4
385 |R=E ED LT =FEHATEEL | 15 k) T 10.1
386 [R=E 75y oY — [ELUHFLLE 27H(B) T 9.4
387 |R= TS5y oY — [BRILUTAHIET 30H (K) 12.2 10.2
388 |R=E 75y oY — [ELUHhEXAHE] 22H (7k) T 8.1
389 [E= 75w oY — [BILHIER 6H(8) T 8.5
390 [ER= 75w oD — [BILTHIEHH 14H (N) T 7.9
391 |R=E 75y oY — BT HANHEE] 22H (7k) T 9.1
392 [B= 75y oY — [ELT HANHEE] 23H(K) 10.3 10.1
393 [E= 75 A= 28H (X) T 6.9
394 [R=E JIL—RU—  [EILUHEH 27H(B) L 15.0
395 [B= L=~ — B8 LT HFA0EE] 2H(K) L 13.5
396 [R=E ZIL—RU—  [&8]IIEHE] 1TH(K) L 7.7
397 [B= £E G =E=10] 6H(8) L 4.5
398 [E=E TE LU M 271H(B) EN Y 9.0
399 [E= TE mE™ 178 (£) IS 7.4
400 [Zofb RV I1— |BILHEAHBIRFEERE| 21H(N) IS 6.6
401 [Zofb R LU ERELIA | 10H(#) 34.2 5.8
402 [Zofb B ELLTEREEDTA | 271H(B) 76.5 5.1
403 [Zofb B 8L &R Z HEF | 15H (0k) 83.6 4.9
404 [Z0fb B BB LI AR AT 18 (k) 60.2 10.4
405 [Zofb R B LT AT | R 8H (7k) 184.7 6.2
406 [Z0fb DX (188) EBLLI T AHET 35 (£) L 9.8
407 [Z0fb DX (188&) LU HET ™% [ 13H(A) 6.5 6.3
408 [Z0fb DX (BEHE) BB TRRET 1H (k) IS 9.8
409 [Zofb B BB LT ARET 1TH(K) L 7.4
410 [Z0fb BT EBLLI T AHET 3H(£) L 7.3
411 [Zofk BT BB LT AHRET 7H(N) 13.4 8.0
412 [Z0fs BT EBLLI T AHET 21H(N) T 8.3
413 [Z0fb BT EBLLI T AHET 21H(N) L 8.5
L4 [Zofs BT BB LT EHATET 7TH(N) IS 7.3
415 [Z0fb Bt ELLTHNBEIARE [218N) L 7.5
416 [Z0fb BT I 13H(B) T 8.5
417 [Zofs BT LU= A LLE] 23H (K) L 6.5
418 [Z0fb BT Bt 14H (N) 36.9 8.8
419 [Zofk BT Bt 14H (N) 58.9 8.9
420 [Zofb BT Bt 14H (N) 6.2 5.0
421 |20k REY ELTEREITEY | 22H0K) 130.5 5.6
422 [Zofb 7= (B8E) |%sll 8H (7K) T 8.8
423 [Zofb B () EB LT AHEET 16H (K) 182.3 19.9
424 [Z D Ivh (F5vo~0-) [BRILHFRARHE] 30H (k) IS 6.8
425 [Zofb NFZY mE™ 13H(B) T 7.2
426 [Z0fb LRI ESLUTHAMNEIARSE  [21HCN) IS 4.4
427 [Zofs =V kK EBLLI T AHET 13H(B) 23.2 11.2
428 |H26FEFEK K (ZXK) FhHEmh 2H(K) T 8.0
429 [H26FE K X (BX) LR 23H(K) L 8.0
430 [H25EMFIEXR [K (3XK) B 3H(£) T 4.3
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